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Section - A
General Knowledge of
Madhya Pradesh (Q.No. 01 to 25)

1.  Where is Tepa sammelan organized?
(A} Datiya
{B) Ujjain
{Cy Bhopal
{D} Betul

2.  In which of the following national
parks george castle is situated?

(A) Kanha
(B} Bandhavgath
(C} Sanjay
(D) Madhav

3. Makhan Lal Chaturvedi is known by
which of the following nicknames?

{A) Kathin Kavya Ka Pret
(B} Indian Shakespeare
{C) An Indian soul

(D} Modern Chankya

4.  From area point of view, the biggest
district of Madhya Pradesh is -

{A) Bhopal
(B} Chhindwara
{C) Mandsaur
(D) Jabalpur

lb

o|UE - &
HETHAT HT WA A7
(w. %. 01 % 25)
o1 e Rl SR T g ?
(A) =
(B) ==
(C) W
(D) e
et (Feet) waa T mim s A g 7
(A) TRT=ET
(B) wivsmg
(C) d@wa
() =
© ARG agaat o e T | A
Einh i
(A) HiEA =g & i
(B) WA Jrawimen
(C) U= WNHE AT
(D) sy =TT
g ot g | won wEw W =R
g e ® -
(A) ST
(B) Tirgam=r
(C) wedR
(D) ==y
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5.  Which of the following cities is | 5,
known as ‘city of lime'?
(A TUZET
(A) Mandla
(B) Kami (B)
(C) Damoh (C) =
(D) Singrauli (D) it
6. Which of the following does not | g g # & Sag 391 va= o =5 oot
merge in chambal river? 27
(A) Kalisindh (A) ETERTEY
(B) Shipra (B) farm
() Parbati () Gl
(D) Tapti (D) e
7. Which of the following is known as | 7, ‘w36t &t qfe’ Fzemm & —
‘land of while lions™?
A
(A) Guna - (A) T
(B) Kami ®) %=
(C) Rewa (C) =
(D) Shahdol (D) wEE
Sa As ptr the census 2‘:” 1 i thE-' district s.‘ 2{}] i f‘- FIOTAT t mﬁm' oEq m
of Madhya Pradesh having lowest o1 TR T AT e —
population is -
(A) Umaria () wwiEn
(B) Sheopur (B) waIgt
(C) Dindori (C) T
(D) Harda (D) w
13/LIPY  -4- Set- A
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9,  Vallabh Bhawan in M.P. s - 9, wIT.AETATTEE -
{A) Governor's residence (A) T FEmm
(B) Chief Minister’s residence (B) et Fam
(C) Vidhan sabha building () Frermar waa
(DY Secretariat building (D) witEeE 99
10. Dr. Babasaheb Ambedkar National | 10, =7. smamamea smge e AR
Institute of Social Science is situated e w EmE ?
at -
A
(A) Mhow (A) 7%
(B) Nagda (R Arm
(C) Dhar (C) #m
(D} Patan (D) 9rEA
11. When was Bhopal State mergedinthe | 11, i oow W @ § o= wniie gen ?
Indian union? |
(A) 1 3rirer 1948
(A) 1% April 1948
(B) 1* June 1949 (B 31
(C) 1% April 1952 (©) 13w 1952
(D) 1* Movember 1956 (D) 1 F=w 1956
12. Which of the following state does not | 12, Fr= @ 4 Fem oog f o we mm
borders Madhya Pradesh? A TR A E 7
(A) Rajasthan (A) TremHT
(B} Chhatisgarh (B) A
{C) Maharashtra ©
{7 Bihar
(D) farm
13/L.IPI  -5. Set- A
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At present, the total number of
divisions in Madhya Pradesh is -

(A) B
®B) 9
{C) 10
D) 11

13, = ® men vy | feet dam g —

(A} B
(B) ©
(Cy 10
(D) 11

14. Which of the following districts is a | 14, fr= & % w7 @7 Foer 5rm wam &
port of sagar division? TR 7
(A) Raizen (A) T
(B) Narsinghpur (B) e
(C) Teekamgarh (C) Frawg
(D) Vidisha (D) fafem
15. Total Number of Rajya Sabha seats. | 15. mmmwm o om R go e d -
from Madhya Pradesh is -
{A) 10 g A
®) 11 By 11
© 12 (Cy 12
D) 13 B) 13
16. Samir dad is related to - 16, i ans P dher & i -
{A) Cricket (4) Fire
(B} Hockey (B) wiehr
(C) Wrestling (C) @yt
(D) Table Tennis (D) Fm *m
13/LIPI  -6- i Set- A
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. 17. Tarun Bhaduri Award is related to | 17. wour wTagr g & way o dm d§ ?
-.\:ic:r; of lhc! .following fields? &) ;
(A) Journalism ®) -
(B) Poetry
(C) Sports (Cy
(D) Theatre (D) v
18. Who has been awarded Kalidas | 18 = 2011 % 0 weitam oo feg
Samman for year 20117 oy 7
(A) Satish Gujral (A) wefer e
{B) Manjit Bawa (B) wefta W
19. Rani Avanti Bai's tomb is situated | 19, 7t sra=ft o Fr i w12 ?
in -
A
(A) Mandu s
(B) Mandla Lo b -
(C) Dhar (G &
(D) Khargone (D) @t
20. Srate Bird of Madhya Pradesh is - 20, T WEET Y AT Uaf R -
(A) Asian Paradise flycatcher
{Dudbraj) (A) 3 .
(B) Lesser florican (Kharmor) (B) Tl
(C) Great Indian bustard (Son (C) = Fafga
Chiriya) ;
(D) Indian roller (Nilkantha) (D) s
21. Fair of Kanha Baba is held at - 21, T EET T den wE wa -
{A) Bhojpur (A) ot
(B) Sodalpur (B) wrEeq
(C) Chitrakoot (C) Terge
{D)} Ratangarh (D) ATy
13/L.IPI -7- Set- A




22. In which district Tansen's Tomb is | 22, ArE T AsaoFa R i ?
situated?
(A) Jabalpur e
(B) Rewa 5. e
(C) Gwalior (C) wanferay
(D) Panna (D) ==
23. Who constructed chanderi fort? 23, = % e @ Tl s wemn 7
(A) Kirtipal (A) o
(B} Aasa ,-_ﬁ.hir (ﬁ} T AT
(C) Suraj Sen (C) o= o
(D) Yashovarman (D) =itasds
24. Sanjay national park isinwhichof the | 24, H=m mwrImm R GE et —
following district?
(A} Sidhi 8y R
(B) Umaria (B) Fwiem
{C) Satna (C) wwm
(D) Shahdol (D) g
25. In which district of Madhya Pradesh | 25, e wem won wiw % forw fiordt &
is Kharbuja Mahal located? e ? :
MNY oo (A) T
(B) Shivpuri (B) ﬁmgﬁ
(C) Dhar (C) wm
(D) Gwalior (D) vy
13/LIP1  -8- Set- A
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w|UE - F
am=a =t (9. %, 26 9 50)

26, P femidash -wm=s | W, ol fewd b a9 - @ ms=
‘e it T R — ‘gor’ firm &t arEETTE AT -
(A) (A) gewar
B) fr (B) e
© & (©) o
(D) Team (D) wrh
27, dRt RE v Reeai 8 # ‘od =
w1 Aaifas suqw Tasiw wem Al ﬁﬁﬂq-mﬂiﬁ‘lﬁnﬁﬁﬁﬁmm
i (A) FTwRIGTE
(A) w@a4
(B) Freed (B) smmifETs
(D) v (D) e
28 ‘H ym AR - didEied — 3. AR id e
(A) #rd ofel ATy -
(B) Trafta (A) TEfa
(C) o wfa (B) TRmm
(D) Fhg =t (C) Tt
(D) it
29, ‘sawmarel - wd fEw wwite #
L B = g
A w i :
(}!:'@ g T e 0 b g o o -
(B) T WA vnrErR, WRA T AT
AT (B) geftam
(Cy T dieam aminm 3= (C) T
(D) 3t = 3w, i W (D) ww
13/LIPI -13- Set- A
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~ 36.

- M.

Trafafen we=i # wa-ar e gfgm | 38,

39,

Freaferfiam fmedt @ @ =9 - @ 7=
‘wre e & aEaEs T -
(A) oo

(B) ==

(C) e

(D) werET

" sroreaa wE e =re | - T gEr
wae -

(A) s W T e

(B} TETRR AT HTA

(C) sy - UTeTe & Fond e
(D) =T AN A =

(C) oF + smm
(D) =& + wr™ 40. FedEm F e ER - T —
(A) =& TTET
Ferfrfiam v 1 it = & o (B) & wwwit
watfirs T v oifen . (C) e J8g,
IO e T wE v e — (D) forra wfErm
A 41, Froffen Feed § 3 wh-m v
(B) = “WEH yTeE o AT Tt T —
(C) = (A) wEE
(D) = (B) et
(C) =mEe
D) v
‘Frmve’ Tl W T R — L
(A) s @t 42, 4 A T Rrewedt ¥ A wAw =
(B) e =1 g - frede wifts —
(C) e a= (A) W+ wm
(D) Tty Fin (B) =t +gm
(C) w= + 3w
(D) W + 3w
13/L.IPL  -14- Set- A



43,

‘STt faaf  wge - and Teem
AL R

47.

Tty freeat € 8 s0-m o=
‘e’ yres T e Tt —

(A) e fim 3= (A 3TERTH
(B} zrremm & fimes wren o s (B) ==t
(C) = § |ig o (C) s
(D) STEEE T OEa (D} =g
44, Frefafes Reedt # @ e - s | 3 ?:ﬁﬁ“ﬂm%ﬁmﬁﬂﬁm
‘gt wrwatm A — Taifier Foges y=1 g |
(A) AT ‘sur & Tt # fokan ran suwn
(B) e (A) TR
(B) wmfgm=mmd
(C) =
(C) IUwRNITERN
(D) TR _
(D) wraen
45, T it yreq 3 R wuit 8 g v 5 > S———
=FaEy — srrafirs 'EEFHD{
: wE -
@ i (A) =g fam s
® (B) f&w = - am gt =
© (C) RBe &t welt Rae 3o
i Rl (D) ZvEwe w greft e
i b # @ waffies 39gw g gt —
et 35 reon e et oft 1 el o 8 =R 2 T g R -
(A) =E (A) et
(B) fioa ®) w
©) = () wfireut
(D) = (D) s
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51.

52

53.

Section - C
General Arithmetics
(Q.No. 51 to 60)

i3
The value of [ﬁ] T

3,

{(A) N

(B)

La |~

(&)

(D)

If the radius of a sphere is doubled,
then it's volume increases by -

(A)
(B)
()
(D)

2 times
3 times
10 times

2 times

The area of a circle having
circumference of 132 cm, is:

51.

32,

o|UE - %
AR A=
(7. &. 51 % 60)

343 2.
181 DT

5
A) =

[y
.

(B)

|~

7

© 11

-
Dy 0

aft e e 0 e 2w S
AT IHERT ATA TG A

(A) 27
(B) 3w
(C) 10T
©) 8T

U W Uiy 132 @ fh #, A I
FH W A R

(A) 693 cm? (A) 693 Fefi
®) 116 cm’ () 1167
I:C}l 5227 cm? J:C} 5327 o
(D) 1386 cm? (D) 1386 &
13/L.IPI  -20-
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. : 1 I O .
S I git=tivos. tentho valus of | B4, mfR 3io=Cignr, v
ke (A) 125
(A) 1.25 ®) 15
(B) 1.5 '
N (C) 2.5
(D) 2.25 D) 2'25_
55. The time in which Rs. 1,000 amounts | 55, =g wwa famrd 1000 5. 10% =nfdés
to Rs, 1,331 at a compound interest wwafy s 1331 5. Framd,
at 109 per annum, is : L T
(A) 2yrs. (A) 27k
(B) 3 yrs. (B) 3=
(C) 4 ys. (C) 4=d
(D) 5 yrs. (D) 5=d
S6. The simple interest on Rs. 68,000/- at | 56, 68,000/~ o8 &1 6% =nfdas == i
6% per annum for 4 years, is U 4 T W1 WO ST B
(A) Rs. 16,120 (A) Rs. 16,120
(B) Rs. 16,320 (B) Rs. 16,320
(C) Rs. 16,420 (C) Rs. 16,420
(D) Rs. 16,520 (D) Rs. 16,520
57. Costprice of an article is Rs. 320 and | 57, ve=m=r®aqea 320%. &, nun @
it is sold for Rs. 400, profit percent, 400 %, % %= i, @ wa wRem R
is:
(A) 25%
{A) 25%
(B) 26% (B) 26%
) 271% (C) 27%
(D) 24% (D) 24%
C13/LIPT -21- Set- A




58. The cost price of an article is Rs. 7,840).

Ll

If it iz sold at a profit of 7% then the
selling price of the article, is :

(A) Rs. §,388.80
(B) Rs. 8,000
(C) Rs. 8,383.80

(D} Rs. 8,833.80

. Thesumof 5% + 6 + 77+ 83 4 03 4 1(F,

is :
(A) 2295
(B) 2425
(Cy 2495

(D) 2925

The square root of , (2?2)2 - [123]1 i

58, mmEmEET AT T840 %, aR I

7% TATH T A AT £ A =] 0
I

(A) 8,388.80 F.
(B) 8,000%.
(C) 8,383.80 7.

(D) 883380 7.

S+ T+ + P4 10 TARE
{A) 2293
(B) 2425
(C) 2495

(D) 2925

(272 - (128) = wigm# -

(A) 256
(A) 256
(B) 200
(B) 200
(C) 240
(C) 240 '
(D) 144
(D) 144
13/LIPT  -22- Set- A
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Section - D '3
Computer Knowledge
(Q.No. 61 to 100)
‘CLEAN' isa _______ function in
MS-Excel
(A) Text
(B) Logical
(C) Financial

(D) Lookup

In MS-Excel, 'ACCRINT isa___

function,

{A) Financial

(B} Logical

(C) Text

(D) Mathematical

‘Pie’ option is available in
menu of M5-Excel.

(A) Data
(B) Format
(C) View
(D) Insert

In MS-Power Point, Two content

option is available in _____ menu,
(A New shide

{B) Animation

(C) View

(D) Data

. MS - Excel#

o|qUE - ¥

w7 (9. ®. 61 ® 100)

61. MS - Excel # 'CLEAN' W& _

G R

(A) @z

(B) wiTaeme
(C) wrgAiare
(D) w3

. MS-Excel # ACCRINT s

HEHE |
(A) fafra
(B) wifwe
(C) oo
(D) ot

g # Tz (Pie)
AT ITETE BT R

(A) ==
(B) Wiz
C) =

(D) T2

. MS - ure wg= & R A A wo

content T FoETy BT # -
(A) = vy
(B) uiwy=

< =
(D) ==

13/LIPI
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65. ‘Thesaurus' option is available in | 65, MS - word & T&w smwym #
menu of MS-word. "Thesaurus' ST FT & -
(A) View (A) ﬁzL
(B] Review (B) ﬁﬁ'i
{D] Home {D} m
66. Rotational delay time is also known | g6 Jrmme fad een & ot wea ¥
a8 =
{A) Seek time (A) e zw
(B) Shift time (i) TS ST
(C) Latency (C) vt
(D) Access time (D) uwwm ZEn
67. Query languages comes under - 67. w0 wEere W § St R -
{A) Second generation (A) fisfrr
(B} Fourth generation (B) =gd
{C) Fifth generation (C) dem
68. The core language for A L is 68. AlLFERwWE-
(A) LISP (A) o
(B} Java (B)
) Wk © .,
By Nt (D) VC++
69. Multithread concept in a programming | 69, wroThm st § wedtds ww
language was developed in H IR BT T |
(A) SGL (A) SGL
(B) 3GL (B) 3GL
(C) 1GL (Cy 1GL
(D 4GL (D} 4GL
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7.

71.

712.

73.

In a relationship, represents

max. number of records in one entity
that are linked to single row in another
entity

(A
(B)
(€
(D)

Degree
Link
Cardinality

Domam

Choose the odd one out in relational

algebra context
{A) Selection
(B) Join

(C) Reflection
(D) Projection

Father and Son share _____ type of
Relationship

Ay 1:1

By 1:M

) M:M

(D) MNone of above

DNS is

(A) Distributed hierarchial naming

system

70. Tt ey &, et e A2 &

71,

sifirermre frrdm fanelt gertt 2 o) 7ol
fRHa_ % amowma /e
oty oA 2

(A Tt
(B) f&=
(C) wriifmferdt
(D) &=

fretyer verdtan & wead 4 fam =1
T

(A) WoEE

(B) =i=s

(C) Rt

(D) W=

72, fmogr__ feefm iy -

(A) 1:1
(B) 1:M
©) M:M
(D) =g =i

DNS %
(A) Ty wammite Afim e
(B) afdwm 4fim firew

(B) The vertical naming system
{(C) The horizontal naming system (C) wiftar=m Afd firen
(D) The client server system (D) womse v fawew
13/1LIPI -29- Set- A




74. Telnet is a service that runs 74, FTERIMEFEFVEH ___ AW E -
(A) TV onnet (A) =TTV
(B) Remote Program (B) fimrz oo
(C) Cable TV N/W (C) | TV J=ah
(D) TeleText (D) et Twme
75. is not an scripting language | 75, = i e e # -
(A) HTML (A) TMHWTA .
(B) XML (B) T W UH
(C} Postscript (C) drefere
(D)} Javascript (D) At
76. 1P address is currently 76, TENAHEIPUEA __ FmE
(A) 4 bytes long (A} 4=rEz =t
(B) 16 bytes long (B) 16 =z =
(C) Unlimited (C) = wiwn
(D) Mot assigned (D) araTEa T T
77. Internet uses switching 77, ez fEmemdemi
(A) Packet (A) ¥z
(B) Circuit (B) wik=
(C) Telephone (C) ZefraE
(D) Telex (D) Zw=m "
78. The tag used in HTML to link it with | 78, HTML % us fére =1 gt URLS w1y
another URL's is ?ﬁ'sﬁirg  wmwmHamm i -
(A) <A> 4) <Az
By <H= {B) <=sH=
(C) <Us €y <U>
(D) <L> o s
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79,

Which of the following is a private | 79,

IP address?
(A) 12.0.0.1
(B) 168.172.19.39
(C) 172.15.14.36
(D) 192.168.24.43

TH WiyEe IPTEEE -
(A) 12.0.0.1

(B) 168.172. 19, 39

(Cy 172,15 14. 36

(D) 192, 168, 24, 43

80. Which of the following is not a type | 80, TF ¥ T w1 U A9
of tab stop? (A} Wt
{A) Bar
(B) Decimal (B) 3Mmw
(C) Point (C) dig=
(D) Left (D) we
81. The view of total database content is | g1 Zresy =rerim == =t = =
view. Frad -
(A) Conceptual (A) =ogare
(B) Internal (B) T
(C) External (C) wewadAs
(D) Physical (D) e
82. In the relational modes, cardinality is | g2, fréoam :ﬁm #, wmriE ot =t
termed as — TE ATAT t =
{(A) Number of tuples (A) Zqwera $ wea
(B) Number of attributes (B) ufwgzm & wem
{C) Number of tables (C) ¥aww & wE
(D) MNumber of constraints (D) wrag=a @ wem
83. A relational database developer | g3, fiFymm TR Taam v T =1
refers to a record as = -
{A) a criteria (A) T® wrESien
(B) a relation (B) um fetym
(C) atuple (C) U= zae
(D) an attribute (D) U= ufee
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84. SET concept is used in 84. SET®H®= TrEE A wH A AT
(AY Metwork model -
(B} Relational model (A) ek
(C) Hierarchial model (B) e
C) TR
([} Mone of these (
(D) 5 7§
85, Which is the properties of entities 7 | g5 fonm & & uiet &) Wredi FtAe §
{A) Groups (A) =
(B} Table (B) *@E
(C)  Attribute (©) -qﬁ;aqg;
(D} Switchboard (D) Tt
86. The wanslator which performs macro | 86, #&Ht wsEd== perform W ATET
expansion is called a T B -
(A) Macro Processor (A) T Ve
(B Macro - Pre - Processor (B) ‘ﬁ'ﬂft, o WEE
(C) Micro Processor (C) TTERT W
(D) Assembler (D) TEEE
87. The translator for low level | g7, =t s=s wiotfiin & grosed
programming language were termed ?EHGITM o |
as = i A
(A) Assembler (A) A
(B) Compiler (B) :
(C) Linker (C)
(D) Loader (D) wis
T
88. Symbolic names can be associated | 88, frifers T =t % |
with mi -,
(A} Information (A) W=
(B} Data or Instruction (B) m?ﬂ%‘iﬁ
e o
nemaonic operation
P (D) T siTEm
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89, Which of the following is not a | §9, o e e e T # -
fundamental process state?
(A) Ready A
(B) Terminated () e
(C) Running (C) w=m
(D) Queue D) =
90. Poor response time is usually caused | 90. Poor WarR ZEd =1 TH@ wE0 ¥
by
[A) .Frocess busy - (&) ﬁ‘rﬁﬂ.m
(B) High /O rates 8] FRiow
(C) High Paging Rates (C) wemafmm
(D) Any of the above (D) Tuire & | wrE ot
91. Which of the following loader is | 91, mavs st o sad
:ﬁﬁﬂiwsmxsﬁrstmﬂ W e R nmi -
'(A) Boot Loader (A) e TS
(B) Compile & Go Loader (B) =TT wE T FE
(C) Boot strap loader (C) %2 R9 =
(D) Relating Loader : (D) Frerfi st
92. The number of processes completed | 92, = gfz wow # 9w v
per unit of time is known as wEATR R -
(A} Output (A) ¥TIeqE
(B) Throughput (B) 92
(C) Efficiency’ (©) uffm
(D Capacity - (D) wafed
13/LIPI -33- Set- A



93, In__ . datais ransmitted inthe | 93, 2T WS ) W W
form of light pulse
{A) Twisted pair cable (A) il Sy o
(B) Optical fibre (B) i W
(C) Radio waves (C) it e
(D} Nong of above (D) wrE T
94. RAM chip was Invented by 94, RAMTa_ g st wat oft -
(A) Intel (A) Tt
{B) Motorola (B) wrerien
) BN (C) amiaftum
(D) Oracle (D) it
95. To access web, ____ program is | 95, Web =t T#8® F19 ¥,
essential T srmavaE B 2
{A) Browser (A) I
(B) Utility (B) FfReRw
(C) Bool ©) T
(D Firewall (D) wrETE
96. Which format is best suited for | 96, Tireerd ¥ best vz & -
pictures? ‘
(A)  joa (A) .Jpz
(B) .avi &) am
() .ppt (€ .ppt
D) .doc D) .doc
13/L.IPT -34- Set- A



97. Einhexadecimal system is equivalent | 97, 2wordfime dwn wgfd § E @

1o ? o
(A} 10 (A) 10
D) 15 D) 15
98. The key will launch the start 98§, #1 T W qe w A
button ' ETI _
< '{A) Esc (A) Esc
L8 ’ {C) Windows (C) Frvzra

i 99. When Internet data leaves your | 99, v g2tz ST ATTHI campus BIFAT

campus, it rm_m;l?._lly goestoaln) 2 7t TE AT Y TS T W
bt vl v o |
(A) Internet Backbone (A) Fewe I
(B) Network Access Point (B) “e=eh THIA uE=
(C) Base Station (C) ¥\ =y
:E (D) Communichtion system (D) =gl fian
M.t
i -
1 100. Amazon.com comes under the model | 100, Amazon.com Frer wizs =1 wET & -
! W =BaR (A) B2B
Wi e (B) BC
@ cx (C) C2C
(Dy CIB ©) CB
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Space for Rough Work /A% =14 & Tora =g
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Space for Rough Work / 7% =t = ford -
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